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A 86355. 8 n°
L 600. 0 m
R 72.0m
.. 86355.8
2R=A/1= 600
n 11 Wrm
>H 750 m
Hm 34. 1 m
Hm=2XH/(2Xn) =
Kt 25.4
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2-5-4(1)

= 144.0 m
750
2 X
72.0:2
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EHFTRE, b, EARMEOFHE (2)

184761. 1
910.0 m
101.6 m

2R=A/L= 510

18 [rihi
954 m
26.5m

Hm=XH/ (2 Xn)

65

9 ..

2-5-4(2)

184761. 1

203.1 m

954

101.6 *
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A 63572. 2 m?
L. 770.0 m
R 41.3m
s BARTE 2
2R=A/1= 70
n 14 Wi
SH 499 m
Hm 17.9m
Hm=XH/ (2 Xn)
Kt 15. 9
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2-5-4(3)

= 82.6 m
_ 499 _
7 X 14
41.3°2
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30942, 8 n*
315.0m
49. 2 m
_a/— o0942.8
2R=A/L= 315

5 i
261 m
26.1m

Hm=2H/ (2 Xn)

15.5
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2-5-4(4)

98.3 m
261
2 X
49.2 2
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126129. 2 p?

610.0 m

103.4 m
126129. 2

ZR:A/L: W =

11 Hrim
732 m
33.3m

206.8 m

732

()

Hn=XH/(2Xn) =

TR IR, b
53.6

Kt=R?/ (6 X Hm) =

=]

=]

2
7, FAKMEDEHE (5)

X 11

103.4 *

2-5-4(5)

6
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83227. 2 m*
680.0 m
61.2m
/i~ 83227.2
2R=A/1= 680

13 B
650 m
25 m

Hm= X H/ (2 Xn)

25

L7 B

2-5-4(6)

122.4 m
650
2 X
61.2 2
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A 80185. 4 p?
L. 450.0 m
R 89.1m
. ._ 80185.4
2R=A/1= 150
n 9 B
SH 420 m
Hm 23.4m
Hm=XH/ (2 Xn)
Kt 56. 6

L7 B

2-5-4(7)

= 178.2 m
_ 420
7 X
89.1°2
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A 23858. 1 m?
L 230.0 m
R 51.9m
. DABER. 1
2R=A/L= 5300
n 4 W
>H 123 m
Hm 15.4m
Hm= X H/ (2 X n)
Kt 29.2

9 ..

2-5-4(8)

= 103.8 m
_ 123
B
51.9 2
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A 42305. 2 m?
L 260.0 m
R 81.4m

s AD3(5, 2

2R=A/L= 550.0
n 5 MW
oH 203 m
Hm 20.3m
Hm= X H/ (2 Xn)

Kt 54.5
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2-5-4(9)

= 162.8 m
_ 203
B
81.4°2
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